


Calendar ( Day 2)

Tﬂc ;
/ 7
ez

‘)Q}C_ ;§qme g‘b‘m, (,A.Q?K



Calendar ( Day 2) Date & years both change
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Calendar ( Day 2)
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Calendar ( Day 2)
1 December 2027
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Calendar ( Day 2) Type 4

Direct get weekly wise from a Date
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Calendar (Day 2)

Note 1. Monday on 1 January 1 A.D.
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Monday
Tuesday
Wednesday
Thursday
Friday
Saturday

200 years 3
300 years 1
400 years 0
500 years 5
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Calendar ( Day 2)
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Q. Which day on 11 Apr. 2027 ? %Z/— ‘1
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Calendar (Day 2)

26 January 1950



Calendar ( Day 2)

Q. which of the following days can never be the last day of any century ?

v. g & @ 19 a1 fem #ft oft foeelt Y &1 sifam &= =1t 8 war &2
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Calendar ( Day 2)

Q. which of the following days can never be the First day of any century ?
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Calendar ( Day 2) Type 5

Normal Year = 365 days = 52 week 1 day = In a ordinary year , January 1% day
will come 53 times, all the rest 52 times.

Leap Year = 366days = 52 week 2day = Inaleap year, January 15t & 2
days will come 53 times, all the rest 52 times.



Calendar (Day 2)

Q. If 2 march 2011 is Friday. So in this year which day of the week will come 53
times ?

. gf¢ 2 AT 2011 I YHaR g1 a1 39 a4 H# YEE HTHH A 53 IR
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Calendar ( Day 2)

Q. If 2 march 2012 is Friday. So in this year which day of the week will come 53 times ?

Y. af¢ 2 A 2012 B YHaR 81 d 39 I¥ & 18 DI dIF 1 faA 53 aR ST 2



Calendar ( Day 2)

Q. If 15 August 1947 is Wednesday. So in this year which day of the week will come 53
times ?

U. af¢ 15 3R 1947 P §UAR g dl 39 a8 H JIg Bl HIF A1 fe 53 IR 1T 2



Calendar ( Day 2) Type 6

30days = 4 week 2 days = in this month 1% & 2" date will come 5 times, all the rest

of 4 times.

31days = 4 week 3 days = in this month 1%, 2" & 3™ date will come 5 times, all the

rest of 4 times.
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Q. Ifin a year 16 June is Tuesday then in this month which week of the day will come 5
times ?
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Calendar ( Day 2)

Q. Ifin a year 12 October is Thursday then in this month which week of the day will come 5
times ?
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